TFHA] 212 a2y —3x+ 60— 1 of T ThS AW B 4] gk ALY

@ x of gt garAolt.
@ y ofl thgt ol=F4] oIt

@ x* | AlE y oIt

@ x o] A 2y* - 3 °Jtt.

@ yof digt =2 -1 ot



@ x%y

® —3x%y?

® 122



3. (2 -3x+1) = (22 +2) ] At A Y22

® -5x+1 @ —-x+1 @ 5x+1

@ x+1 ® -7x+1



S22 -6x-2=a(x+1)(x-2) +bx(x=2) +cx(x+1) 7} x &
2ol BAYe] B AU U, A2 a b 4o o RS P

@ 2 @1 ® 0 @ -1 ® -2



5.

(x+1)° = ag+a1x+asx® + azx® + agx* + asx° ©] x ol gt Y5
‘IH, ap + ay +a2+a3+a4+a594 %}:’%:IL—E]'%()

@ 8 @ 16 ® 32 @ 64 ® 128



6.  TFRA - 227 4 5x - 62 A4 x- 22 Uz 1] Lhe A2

Do @1 ® 2 @ 3 ® 4



O] 2% + 2+ x+ 18 20— 1 2 U 53 Uy E &A=
uaet 222

@ 24+x+1,1 @ x2+x+1,2

® 2x*+2x+2, 1 @ 2x2 +2x+2, 2

® 4x® +4x+4, 4



8. (1252 - 752) + {5+ (30 - 50) + (—4)} 2] &F22

O 75 @ 125 @ 900 @ 1000 ® 1225



T &
Ju -
~
M
BWM
<o
T
¥ o
e_aq
= .
+ 7
2x,0|
0N
+ 4+
N =
w7
__1__/|
< X
CURCE
o
‘.Dl_l]_,
ey —
__OLO
T o~
= +
‘qx
= N

@ x24+x+2 @ x2-x+2

D x2+2x+2

® x2-3x+2

@ x2-2x+2



® xr-y

O xy-y?

xy —y?







12, f(x) = ®*-3x2+3x+1€ M, £(x)-2 = x(x?-1)+a(x—x?)+b(x*-1)
J} WA ARISER 1 A5 0, boll oo a+ b€ 7

@1 @ 2 @ 3 @ 4 ® 5



13. (x+y)a-(x—y)b—(y—2)c—4z=0°] x, y, 2| Ftell TAGlo] A4
A o, F abcE oHH?

D 4 @ 8 ® 16 @ 32 ® 64



14. O] f(x)E F A4 x -1, x- 22 s o] Uz 242} 2,
1ojtt. ojmf, f(x)E x* - 3x + 2 & U o U4HZ|=?

® x+3 @ -x+3 ® x-3
@ -x-3 ® —x+1



242 — x + k7F Q3] x - 12 Q52 71 o, o]

G f(x) = o +
A () Qe s

O G-9E-De+D) @ (r-Da+2)

@ (x+1)(x-1)(x+2) @ (x-2)(x—-1)(x+2)

® (x=2(x+1)(x+2)



o
Hlo
,_m.o

Tod

A3 +2x+1=a(x-1)2+b(x-1)+col xl &

o

16.

@ 8 ® 6

@ 2

@ 3



17. B34 8% - 1S 4% + 2x + 1 2 WF3le W 52 0(x) = &
O(x) & =] Are?

© -2 @ -1 ® 0 @1 ® 2



18.

i

© @ O
=W o =

(k+1)(k+3)(k+4)
(k+1)(k+2)(k+3)

(k+ 1)(2k + 1)(3k + 2)

Sk + D(k+2)+ (k+1)(k+2) 72 AL

@ ék(k + 1) (k+2)

@ %k(k—s— 1) (k+2)(k+3)



@ (x-1)(x+2)(x*+x+3)
® (x=-2)(x+1)(x*+x+3)

® (x+1)(x-2)(x> - x+3)

@ (x-1)(x+2)(x2+x-3)

@ (x-1)(x+2)(x* —x+3)



20.

oFe % TR ¢ - 82 - 9 9] Q157 obdl R

® x*+3x2+x+3

@ x+3

@ x*+9



Al
2

® x-2

@ x-1

® x+2

@ x+1

@ x



22, F A x2 +ax+ b, x? + 3bx + 222 HHTFFIF x -1
a+ b2 FE& F5HA?

O

@ 2 @1 @0 @ -1 ® -2



T OFA] (L4 x4 2 4603, (L x4 22 + 2% +24)3 9] 9 9] A2
b o, a- b2 727

@ 4°-5° @ 33-3* 3 0
@1 ® -1



24. (10° +2)° | 7t A2l o] Spe] FL Fajolal,

® 15 @ 18 B3 21 @ 26 ® 28



25.

A=Y
o

(2k+ 1)y — (k+3)x+ 10 = 0 °] k] gtoll TAIGle] T/ ™

SHE5 5= A4 x,yoll thshe] x +y o 127

@ 5

@ 6 ®7 @ 8 ®9



26. O x* - 4x® +ax+ b7t X + 22 Uro] ol o, 3a + b 9
27

® -1 @ -2 ® -3 @ —4 ® -5



27. T f(0)E (v-1)(x-2) & e U AT 4+ 39 T (20 §
x— 12 tae Y2 =?

D -1 @ 0 ® 3 @ 7 ©® 11



L
7A Q
T +
‘Ul S
a
o S
= =3
o oV
rE SN
I
A
W
| ;01_
=

| ﬂ
(SR
+ o
= e
F ity
5 2l
T2
7, ,WM
<r

5 N
by
B NV
W =3
= oln
=

0

® 2

1



29.

o, =

® 3x+3y-2

@ 3x+y-2

E};Vﬂ, QX2_2y2+3xy+5x+5y+3
S
=

QA4 ) Fow g8

@ 3x—-y—-4

® 3x—y+2

VAl



X —-x*=3x+3
x—1

X =3-2%9 1, o] gh2?

D 8-6+2 @ 8-442 ® 5-642
@ 5-42 ® 3-6v2



o, (x®x?) +

k13
=

) B
5] AR BE A®B =
5lo] AQBE A® B_AE}

A, Bl o

4]

31. &

j—

® 2 @ 3 ® 4

@1



32. % ol A f(x), g(x) O AREFET x4+ 2, TS

¥ +2x2 —x-29 1, f(x) + g(x)E FotH?

@D 2x2 +5x+2 @ 2x2+3x-2 @ 2x% +4x

@ 2x>+2x—-4 ® 2x2 +6x+4



33. @2 =29, {(a+b)"+ (a—b)"2—{(a+b)" - (a-b)}*2]
e

@ on @ 2n+1 @ 2n+2 @ 2n+3 @ 2n+4



